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Learning Python: Child's Play with RUR-PLE!

Apprendre le langage Python avec RUR-FPLE: un jeu d'enfants!

Learning to program computer should be fun, for adults and children alike. RUR-PLE is an envirgnment designed 1o help vou

Python. To use RUR-PLE, you need wxPython. You can leam more about RUB-PLE or you can|go to the download page.

André Roberge, © 2004, 2005

@ 'Download windows-setup-rurple1.Orc3.exe (5. 1 MB)E 22510 LS
CtREE 25U ok
Looking for the latest version? Download windows-setup-rurplel.0rc3.exe (5.1 MB)
Haome :
MName # Modified + Size ¢
m rur-ple 2008-11-23 nd
M crunchy 2006-06-09
m video_demo 2006-06-01
m lightning 2006-05-23 .
M rur-ple-0.8 2006-02-11
M lessons 2006-01-29
M presentation 2005-06-15
Totals: 7 ltems
2) Z{E(RUR-PLE) X
o o 1T o sHa : = ol
@ O #H2 oS gk, 2X|20{= AO{(English)E =gt L Ct.
a8
Select the language to use during the installation:
|Eng|ish - |
[ ok || cancel |
© 2014 xwmooc(http://rur-ple.xwmooc.net) 3
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§5! setup - RUR-PLE

Welcome to the RUR-PLE Setup
Wizard
This will install RUR-PLE 1.0rc3 on your computer.

It is recommended that you close all other applications before
continuing.

Click Next to cortinue, or Cancel to exit Setup.

Cancel

S9|5tE Ci3tAXIO A ‘| accept the agreement'S 22514, [Next >]

e 0 e

Q

i5) setup - RUR-PLE

License
Please read the following impertant information before continuing.

Please read the following License Agreement. You must accept the terms of this
agreement before continuing with the installation

GNU GENERAL PUBLIC LICENSE
Version 2, June 1991

Copyright (C) 1989, 1991 Free Software Foundation, Inc.
55 Temple Place, Suite 330, Boston, MA 02111-1307 USA
Everyone is permitted to copy and distribute verbatim copies
of this license document, but changing it is not allowed.
Preamble
The licenses for mast software are designed to take away your

accept the agreement

_) | do not accept the agreement

< Back Cancel

@ 2XEEE UESts =AM [Next >]HE

=12

§5! setup - RUR-PLE

Select Destination Location
Where should RUR-PLE be installed?

Setup will install RUR-PLE into the following folder.

To continue, click Next. f you would like to select a different folder, click Browse:

- Program Files 6<B6)'Y¥RUR-PLE] Browse...

At least 19.8 ME of free disk space is required.

< Back Cancel

© 2014 xwmooc(http://rur-ple.xwmooc.net)
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§% setup - RUR-PLE

® AAHFEEHE HHSHE H=tSA0A [Next >]HES 2
o 0O 6

Select Start Menu Folder
Where should Setup place the program’s shortcuts?

J Setup will create the program’s shortcuts in the following Start Menu folder.

To cortinue. click Mexd. f you would like to select a different folder, click Browse
|[EUR-PLE!

| | Browse.

[ <Back [ Nea> |

Cancel |

©

HIE2IHO| OFO|22 FIIEE MEISH
on'E XM= 5t ‘Create
=

= CHBHAXIOA ‘Create a desktop
a Quick Lanch icon'S M3 SL|CL. [Next >]HHEZ E&

a

ok

—_

i5) setup - RUR-PLE

Select Additional Tasks
Which additional tasks should be performed?

Select the additional tasks you would like Setup to perform while installing RUR-PLE.
then click Nest

Addttional icons:

[ Create a desktop icon

[ Create a Quick Launch icon

| <Back [ Next > J| Cancel |

@ MK LJO| EA|TH [Instal|HHES SelBtL|C}

i5) setup - RUR-PLE 0o 0 e

Ready to Install
Setup is now ready to begin instaling RUR-PLE on your computer.

Click Install to cortinue with the installation, or click Back if you want to review or
change any settings

Destination location:
C:#Program Files (x86)#RUR-PLE

Start Menu folder:
RUR-PLE

Additional tasks:

Additional icons
Create a desktop icon
Create a Quick Launch icon

[ <Back |[ stall ||| Cancel |

© 2014 xwmooc(http://rur-ple.xwmooc.net)



MK|7F Q2 E|QCH= DA K| 7} BEAIZ|H [Finish|HHES S2lgtL|Ct

5! setup - RUR-PLE 8,00

Completing the RUR-PLE Setup
Wizard

Setup has finished installing RUR-FLE on your computer. The
application may be launched by selecting the installed icons

Click Finish to exit Setup.

™ Launch RUR-PLE

(4) Z23W 48X = F=9 5IH ¢4
2{Z(RUR-PLE) MX| = 470 ®iogz JEE|D
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70| 8 =2HHO| FHE|0f

B BUR: a Py

Learning Environme

9=

RUR: Read and Learn | Robot: Code and Learn | Python: Code and Learn | Python: simple editar
s 3 ol = w
\'\} @ = Ejl-b I_El_
~
- . T -
Learning Python: Child's Play with RUR-PLE!
=
= Andre Roberge, @ 2004, 2005, 2005
About RUR-PLE
Acknowledgements
Summary of instructions
Learning to program computers should be fun, for adults and children alike. RUR-PLE is an enviranment designed to help you learn computer
programming using the language Python. YWithin an artificial world in which a robot can be prograrmmed to perform various tasks, you will leam
what it means to write a computer program, using Python's syntax. You will also be able to apply your programming skills in a more traditional
environment using the built-in interpreter. If these words dont mean much to you for now, don't worry.
YWhile learning to program can be fun, it does require some work on your part. | will be your guide, so that you can learn on your own; however,
you will not learn if you do not write your own programs. This is important enough that you should take it as a rule to follow.
Rule # 1
Learning about computer pragramming is like learning to play a musical instrument: you have to do it, not simply read about it
The second thing you need to know is the most important, best-kept secret for writing good computer programs.
Rule # 2
Wyrite your computer programs to make them easy for people to read.
That's right, write your computer programs so that other people, just like you, would find them easy to read on their own. Yes, computer
lomciinmne avo Adeocicnn A te allows o bo comaemimicato wath commnibore et e bienon lanaicane bove oualond 1o alloos himane to comenoanicabo b

2 SHEOME 47HX "oA 28W B(ERES 0|28 22U [Robot: Code and

6 © 2014 xwmooc(http://rur-ple.xwmooc.net)



(5) [Robot: Code and Learn]¥42| 3} 1

1) =tHTS

22] RUR: a Python Learning Environment o 0 @ i

Robot: Code and Leamn [ p
+
SiJ® ¥ 2

&E! ok B % DDEEE
Tovs (7 \ \

turn off ()

|Im @

L

2 3 4 5 6 1 8 9 10

Avenue

@ Code : B|E17} SXst g Qaisie &g
® World : 2|27 7

o
=
@ Output: HIO|E{E £ 4= Y= BE

_

2) Hiw+d

CIE Z0r4 A, 2222,
cI2R M

aas|ppimE o——||sRe||w @

gmgﬂzgm%)@ FEEE(H, 30, H/H]
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B a2 X{(About the Browser) 27

2{Z((RUR-PLE)2 L EE02 1AME|0] Q&L|CH & HO|X|(RUR : Read and
Learn)= X|& 2{=(RUR-PLE) &1 O|X|2} &Lt H|O|X|L|C}. O] HO|X|&
ZtEroh B2t M ULICH AMRSL7| = ZHESEX| B 7|52 ChA K| 2F0| L& L Lt

O Hel? K= 0l Z0| S2& BMo=H =80 &= L5 57 HES
MagLt 82 7222 /AUMFE =M7F &1 J2 CSat 25U .

. Bf (e Mg AR HO[X| = SorE & A Utk
. i D HO0IAM = HO|X|7F AULHH, RZ HO|X| =2 Z & UAA L

. E-‘lp P ¥E HO[XZ & & A O|SYLICL (FIZ2 S0t HE
H

. “*\/h\ P HERAN oM REMUGIED AT, USBS)M MEE AS
S gL,

. \..?” 2 HE (URL, O£ http://www.python.org) E0{A| EE2I2X0f
HEE HoFLCL

LEE
e mieed 2{Z (RUR-PLE) QO E MEHSELICH SX Hojet

=0T MEEL, =20 XS

o g
et o1e

7 Ho|x| SHEHo] S Jjol AAJt YL EH|7 ElYoH, UES
SHASlE 2|® 10 238 22s10] 0
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YEES SASts 2|20
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ZH|7L 2| H, ot M & = E S| SR | 0| X|[RUR: Code and Learn] S = = 5}
Chs 2tHO| 2 Zd L L,

| RUUR: Read and Leam | Robot: Cg{*f:;nd Leam

SE510 He =2 A k|H Of2fj ot 22 ot HO| E AR L|Ct

21Z0f «= 2 12 & (Program Window)”0| 11, «2 & & E(Robot World)” 7}

REZEO AZLCE

|EEJRUR:  Bython Learning Environment M=)

RUR: Read and Leam | Robot: Code and Leam | Python; Code and Leam | Python: simple edtor

(% «48.% DPINIM OSh@ ¥ [

10

Street

153 >

{|No program loaded Program not running Robot has 0 beepers Default world

10 © 2014 xwmooc(http://rur-ple.xwmooc.net)
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Hez|st 0|28 Ct2t 20| X| Y& LCt B A
REZOoR) XU OIHFLE), MF(2H &

T USLICEH 2|29 HZ 2K
a

A
=
SZg HietEDn Jon, 55

Ct.

dZoz) SZ(H
°2) 2lEI1E 4 7tX|
F2 Zo| HHm, Mz=Z
0

=
=7
o=z
of2{ &2 Xt

2|20 S TolM M Q. 2817t 828 J| TSR] £ OtM 2
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Ao 2218 gRjole. 9B suE( ) emag s goe
oS A7 T, 2k starm( ) s elmag Az = S YU
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S

Hp =27

M Qlgot HiQE 20|, 2|22t &2 E&5t= O AHESt= F 712l FaT HO|
A&LICt 2Z0 =22 E(Program window): 2| 217} [t2t0oF &t HHEO &
sk X YLCH LEZ 0| J2iE ¥ E (Graphic World): ¥ S &2 2|27}
=2|0|= XLt

T2 A7 HE(“H)S 2 2SI, “movel.rurrS MEHSHL|C} CHEO| HEE
3 E (computer code), ZEZ0{ A T E(code)7t T2 0| 2 Z4L|CH

move()

FE(code)= T2 EHl A E (program text)2 S2|O{QL|CH T2 22 AT 9|
FEH, XA[YLCLE O] B2 ZE= F /M XA 222 FEEJASLCL

move(): 2|2 0| 3zt Ao = MTSIEF K| AL CE,
turn_off(): 2|2 20 I O] &2 X[A|2 Z40] @it LR M o HX|IE
oSt & 2|H 9] MYUS HLICH

YW (P2 FYE e 2EATHEIEA X0t otz Y E2 2 QA BfLCY,

oj &, wae =P )2 28010 2|27t 2|20 EE oM SH0|= DS XFHEAM K.

o2]{= X
otzfiet Z0| & B === move() & F7I5t0] Z2 IS HHEM Q.

move()
move()
turn_off()

HHE (92 22/l D, “move2”E 0|28 FM Q. T2 10| XFEC 2

Pl
oA

SERRF( )7 Z7HELLICH S8fetLICE of 22 e Wa M of2|2o mrawMe
st ch ol Adse Py 2o gw st zeaue
NS e 5N 2.
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2 F(eRRoRs) C}F 7]

2l20= A A2 ¥ S MELC 0| A2 7| = ot 1, L 7| & oL LY.,
O£ =0, b3 20 Z2 ™S HderLCh

Move()

turn_off()

“wrong_move.rur’ =2 X &5t MATHL|CH 2| 2= XHAIRHo| EHot 2EAlof
=8 LICt 2 LISHH Egrebor 01I | M3t m (CH2XF, 22 XF)7F 27| TfZ RILICF

0 2{= A

geotA F& 20| LO{LH=XE =QlotM 2. 92 2 Egrebor 7+ o 0|2 TF 2
=82S B 03, o2 0] A get Z2 M FA0| ZERE AKX & =+
Us AYLICEH BHE 22, O{EA B D (bug) Ol K| & Ttetdt= A S HiE A RILICE
Al 20| 0] CHoilA & Bl 2A &2 AL o220l MO A= 220 S
P ot =272 A 2 AL T

O||j| o|-|_|
AES) 2

kl
"y
ro
iels
HL
=
o
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M (Comments)

(0]
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O 20| A det N HM Z2IHS oM. 222 = U K7+
OlZZofA & E2 M= H= kX[ QAL CH 2Hef =X BLHE 7|02l =
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& Ch CHA| 2 g oA

x|
O[M|, M7t =21z S
7

7] {5t Al Lt hor
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N
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no
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T
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o

7|CtE| s LTt

Ofgf{otA| ... A-SLICL 7bY SR8 A
8171 A TSofof Lot B2 gl
oHoll HHFE 7t OfH CHE AMEfS RISt HESE ME 2T
Z=4{(Comments)O| 2t SL|CE T2 0| =M S M= R 7HK| W -O| AS LT
O[O M AtEot= 7t 2ttt RS 72N =gt =2 = A

—

=0 CH2 HAEE FII5HM 2.
# Lto| A =2 % (My first program)
Z2IM2 O30 2 A YL

# My first program
move()

move()

turn_off()

O{2{ /20| A4TO| OfL|2HE 4O 2 A|XI5H= K 0| S0 2 8O Z4QL|Lt
2|2 0(S 2 TjO|M)= # 7| S 2 Alxkste Lio]

LIEHALICH Z=A10| A E T} SA0|2} CH2 |
o Moz =X E

=:]
— = =
A O S S MY, JeA FAO0| SMo=2 HYL|C

© 2014 xwmooc(http://rur-ple.xwmooc.net) 15



Z0f| 4 7|SE 200 B2 0| YO{LNIR2#S E0E D,
MNastn A eEP)e 22310 2R 7 B2 U8 X

16

© 2014 xwmooc(http://rur-ple.xwmooc.net)



ezoz 57|

e 1
AOM U0, 2|E0= AZLTOZ, AZRYTO| 90 22 O WT0| =X
= 7T AFLCHL 2205 T= 0|7} O| 2L H F2 MA E i = YA
ddsUch e[2a7 JFRo = A S H, tun_left() 2t 2 JSHE ELC
& S0, 2|27t HZ AIZ IX[0| M S 2otCrH, ofef ZHEtot BHEZ2 ChE
otHE #E L Lt
move()
turn_left()
move()
turn_off()
2
1
1 2
o{2{ &2 At
Cte Z2 WS AFESH0] 2|22 5105 ZHEHo A4 S el S 2 0] A|
SHA| 2.
move()
turn_left()
move()
turn_left()
move()
turn_left()
move()
turn_left()
turn_off()
T3], Z2 U MAsY| Mo A ZRMe MEsE A4S UK oML,
Al BENR.
FO0{7t 2=0{7} OfL|2}&H, BX Folot 2=0f, 022 E=0{2| 52|01&
S OIM A 5 UASLILCE OHX| 2, 2|0l = Eo| O Lu}pBlio|o{of 5,
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2M s BA0| GlojoF gL|Ct Ol E S0, ZZ A0 &, vire_a_gauche = turn_left
o5t 1, vire_a_gauche() AH& S EX0| B2 ZA FEHY &= JUSL|CE

CrA] of 22 At

Z 2E07} 2X0|= T2 S XABIN K.
2 E7|E U550 S A|ZQIX 2 SO0IetN
DEO2 M JAO{OF ZL Lt

12 WEEM BIA[A g e
27t 0|E3}D, X% O
ZF
=]

O] s52 HigtE=

o 1=

AlS
S

2|20 YOl Lt B2 2 ufet 2l 7t 0|4 2 meaHe
RS EH B0 HA Q.

ez

2|21 FE0 S0 Z I, 2|E0= &4 |Z Of2f 2SO0 M U
UASLICL LEZ EF0| U= “Show/Hide world file” H = (@J g
REZ FO| HAETL LIEILIH 2t EHO| #HolE 2 5= JASLICH 5], robot = (1, 1,
'E,0) E2 F=A EML. 0| Z2O| HEO|M 2[22] /X[ E LIEFHL|CH A
MR =Xtz M2 Z(8)2 /X, F HN =Xtz 7= Z2(d)2| /%], 2185 = oo
=AtE 2|27} st Eek(E=East(8%), N=North(5 %), W=West(MF),
gotn, S22 9[5S ot ss YU

o ﬂ% o
OFX| 8} ==X} (0)= 2|27} 210 Qe H| I (beeper) =AU L|CF. H|IHOf] CHSHA =

o*Oil/ﬂ HUARO| AREH I|IEE SIS *H%PO# 221 E =T

% E I_.|-7|X| Ol-ﬁ ||:|-

P T

L

SHX| 2t E|EJ7f%5€% [[H, robot = (.. )
X E LIEILHZ| Yl HI = A2 &

4
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o2 &2 x|

S AEoto] ofeff Ot 2ol 3 M &, 4 #M Fofl 2|27 HHS
ol E FYHOEMR. 22OV M2 /X2 S07t=, 5 A B €, [N
d SHS I 27| gEQ 2B R EF T2 IS gt . of2f 22
AECE N2 2203 BHAZ 2E| =5 Z2 - S Aot K.

[} -1 O

5 5

T 1
11234> >1?

€ A(Comment) a - H|TH (Beepers) &
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H| I (Beepers)

1. e

2|29 dE=HHE ZHYLCHL HHE AZ I 2 228 UHE= X2
=M YLICH 2t HY0= 2 2A 22 YL Ct 2|20 & B Hiz Fofl A AS I

HH 22|18 S8 & UASHILL 2 EA= HEHE =2 & A1, FHL O AT
SEHZ ZFX| 2D ChLALE Zt2[0f 32 5= A= 0l 2 As22 AR L L

ﬂJI

A

2| 212 5t F pick_beeper() HE 22 H|I{E F A StHL, put_beeper()
HHZOE Xt2|of A & == USLICH HI 7t gl XA HHE A StALL,
HIH 7t = Lof =0l Xt2|of A $HCHH, 2|2 0= SEsta, HE S 2R O}

o2{= A

QIZ of2f 22 22 beepersLwld IHY S OIA 2. FE FI|HE(“h)S 22310
2 (world) IH Y-S O{M| Q. H|THE &1, Of2Q ZH0| 7}X| 1 0| B3t 50 LB s =

2 =
TS A EotM K.

5 5
4 4
3 3
2 2
i & S S>>
1 2 3 4 5 1 2 3 4 5
2. HHHEZ

HIHE F7tiM 2|22 =S g HiE & AL 0|2 fI8iA, 72 Sat
M2 0| Btit= DXFHO|M 222|510 0~20 AFO| Q| H|TH =AHE d Bt Ot B,
02 HIHE M AHSL7| ?ohM = AHE & LILH.

=
=]
=
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o2 2 Xt

beepersi.wld TS S0 10fA 5 2 1l 3 E0f| X[t H|HO| =XIE
S 77| M Q. Beepers2.wid 2= 0|22 2 2 E XM EH E( ﬁm) S L3 MESIM K.
CEO7t REHHE FAM 7 AOZ 0|55t T2 IS BN K.

O =

€AZo=z 57|- > -0z B P
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O] =2| H!

T AFE B0 25 A OI17| Sle= 242 ZOLSHA| Yot JefA O|H st&e
O < Z&LICH X7t o2 274 F& = A2 THX] 40/t 2 M| Q. 0{2{&0|

2|
e =)

1. H(Bug)T F£AQI7}?

AFE 80 {2 (Bug)2| Of #l= St E CHst OF= n AR H LT 0| A L0
HHAE X AtHO| 7| JSt=, 25| LIEO| AFEHZ BEFEA St ’elS
Hadsuch dFH Z2a2fYo| Autday] A0 /ES YFHot M Iot ZAFH
D}SERFO| Kb =BXHO| O Sl & 10 Q1 Grace Murray Hopper 7t O] 1= &l 0j| A
DAL A S LICL Grace Hopper EtAtE =0 = O] 8= 2 & 77HA| 2Z &L CL

O] LIEH(Moth)2 SHH 2| 7| ZX[0f| H|O|Z=E| 0| E2tE|RUCtH SO|EAH = 7| EX|0]=
Ct2ot 242 27t M UG L O a7 A= A A A Ated|(First actual case of

bug being found.)”
S
q&«, Tt i

1790 :)_Iﬁr+¢o| ‘ _SI.V\e lo.P<.. (Sl\\g cJ\e,ck)

Re\m\“ﬁo e
\Mo'ﬂ)\n r\\a\.\

o-{ Eucl Lc.'m‘ {oqn:&-

A, 7182 WEOAM Mgk BHols SAHE SO AFH0|= B0
O Cl=0f 7| ALt D A USLIEH SAEHE SO AFHO| 2™, 1889 4 3 E

11 2 Pall Mall Gazette THOf| = CHS T 22 BIAE 7F MS{ Q&L C}

o

LA S

“M7t 2712 HEIEMN7E SS710 ‘H 7 AR & &S MU Hs
27| 022 2HE didst= #o o= OfH 7hge| Eey7t 22 LR 2
=07t 2E 22X E 227]= AYLICE”

Ql «H{ = AR 2 WY YK RE2X|TH AFA JpAtO 2 HQIL|CH BSSA =,
AFE H1es 7Hd0[X| = Y& LT
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2. 1 CtE7|

|_I__|. .
E 2 v
ol 70 o >
e i & up N &
Pl ofu i o & <F T ooy =
T o H = ne ol = o K
L_L ol i == K N 00 = =
o M o3 =0 = Z0 | 1 8 ®
o X | will o i [} <k © ¥ ©
Y L 30 =1 KO 1o oju il gl 1o
Ny |__/|L — A_l r < i H o__._._ ._M m.w_._._
o] © unuu_”_ = < un ojn ~ D L
S of © i ~ 0 o = 4
0 o o —_ ol = = ~ = &
op LK M - & o U = = _ 838 Al zr g o5
P H 2 A A 4 8 = < g B F
K R &3 = 0% Il il i, m s = — < jol
= 3 1 T = O ol i i =0 10 10l E] —
NS ROK oM g <F - O ~a~o o R0 N o J s
s D < T X oy a0 vas ) & K e G
3 i Do u B0 = %0 M ujo it o
70U W omn o 2 N - A EmE A W oo = M = W
Ny o o X Kz B
il I E R ol = S T < A -~ 3 = 2
— o L — V] E=l P
___.rr__m.r s S, ”uﬂ T F ano=l <
onw._uL_M M W S < = K 2 M oo KO
DEHE o s & Hl m Fl oINS T
- |_ TH -~ == == e H_ -—
sgta I T® W 2 B A Al X
=y HI ol o X0 = JH <u A o Kk 1 RF
SR ofu o mo wr < — H &o W <F =
o i Ol ~ X o . O SN
of N = ~ i[d =0 T 5 T 00 mm
ok oy Ko a D5 - 2 W T owdT Doy
. 0 fu o oy <M :
ZlH - = X ol OF N T el W3 3 < T
T T os B A 50y L e O sl
= = N H 53 oF @ M 5 1
s TR N ok | 5% oF Mot of W oIk
MR RT T o N o < L6

23

OfC} &Lt

=

=
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T2 UG AITFSH 0l BOHX 77| RO TR OGS HED ACHR 7Ly

— — 1
HA HE(M)S 250l Z2 U S o= 1 HX|A|ZLC,

ot H StEHO|| SEHEA] ZHEi7F QS LICEH 1) 0= Z2 80| REL[ A=K, 2)
SEl

J Z2 WOl 2Efj= O{HX|, 3) 20| =ML 74X 12 U&= H|IH 2| =At=
HOFRIX], 4) O] 2 E MHAO| 2EEE|0 =X, 1) ~4)E SE BA| L=

EALIC}

Program file: move 1.rur Program not running Robot has 0 beepers World file: hurdles 1, wid ”

Hlmet FE Th0f| tisiM= LSS0 & © 2 HE A YLIC

Mg EEDEE €0, EEOI HNZ A X H22 XSS R AIZ S5 At
CH, 2E 2|4 HE (To)S SFLICH (O 20) THhA 2 OFE! RpASHA

Saot ARL EE = ASLCE SO HIAE XD, DX =HE RES
= AYUCt

€ H| I (Beepers) B B oS 7| &

- =
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S} HO| BHY O A Ofai M 3 2 Y LILCY,

T
oln 0 fol
Hr = o
= B ~Nd
= uid u
ar o =
mu i ol
o T E3 e
T o H
%0 < N._ =
R 3 AT &
ix < o
5 X > =
o = Ufru 10
< o[l Pl KO
—~ Tr - K
G ¥ N =
~ O 3 ﬂ
= o U
W %o o 5"
U N ~ i
-+ m o = |
- DL m_un_
0 — uril} ofll
- K 1o
- W 1 vl ol
o U
oF O u T
N oll 0 o Ol [
0 101 N@\l (S
= ._.W ~ —_ H|_
- < — T
R F K I
i 5 Viow
[ T S N e O NN e L “.A| ] o ﬂ
- & o~ - U K- = 7 ~ = o Wl 8 o

25

SHM| 2.

HFA] Ltf SPERO LIEHLEES 2|20

=

=

oz
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3 3

=X

&2 % Bt ol at5 2 02 2| ELICH Ol at& o HEEME HE 0 &EX|
S LICEH A O &H THAIOf| M 22t X|ZE5HA I E 5= QUX| B O 50 =
L = Z0| Bo| & Lt

M HYE

2|27 XY 22X AES B LICEH & &0l AT S S22, 22 O Y
AT =1 (HIH 2 ®3), CHA| Of2 et 20| MZ AIMX|H2 2 S0tE

A LCt & E ot newspaper.wld & L Cf.
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Of XS +=&ot7| QA 2|27t 50 0| &2 HHES +B0F L= A S
A =, m B2 7| 2E YHS SfoF LICE O B2 EfO|ES E+E [ B2
RFE IS 7 UG LCL O S otS50A, 0 EA Tio[H S A+Esto o] 24 2
SE 22 Ztefelet o= X a2l = A YL C

oz
o
=
MHo
11
N

2|27t o= F7] B30 H7tetL L ok 20T =& et Z25H0
|27 =4S E 22 ™S 5tM . L T2 hurdlesl.wld &L CF.

V]

\/
.

%]

[#%]

=

(5]

[=x]

-

w
2|8

8

ChE S50lM, 22 2 Y S +d85te B2 T2 S OfEA 2dot= A4S 2|
ILICE O 20l 2|23& X =M AS52 2 B2 0] CHE H0|& 7+

8 A7|
S8t AEYLICE YOl BE Y2(HHE EH)S 2|27t LI
2 C M2 harvestl.wld & L|C}.
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6 OB OSSO RO R
5 ©oo0oo0ooo
4 ©o0oo0oo0ooo
3 OB OSSO RO R
2 ©oo0oo0ooo
11 O 00000

1 2 3 4 5 B T

LIS0ll, St s sdot=H FH B2 Z21HS A gst= As =
Aot d2[a, 2|20 A o EA R ¥oo] g0 S20| W g5
XNeots S 723 A YU

2507} 0| 20 WS LICH 2207t 0|25 W LR = 2 o RN, T4
TS Z27t ot EAIE|O] ULICH FE THAL mazelwld YLIT

+] 4]

1L L=l

LIS +=80AM, B2 ChE /2 0|2 & A Lt

[

]
2|27 A O 28 AL WA e =X[E & A/
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Ol S5 0M MER 2X BEE= HE7 Belot=X| tiE A YLIC
URH Z20ds A3 I, 3 ¥ 782t &3 2 €T
A3

2|27 +=A5h= S Olsis 2 M K.

turn_left()
move()
turn_left()
turn_left()
turn_left()
move()
move()
turn_left()
turn_left()
turn_left()
move()
turn_left()
turn_left()
turn_left()
move()
move()
turn_left()
turn_left()
turn_off()

o &2 x|

2R AZoR N M S 3t H2 92ZoR

F &2 Z21S SLICE J0| 910 234N, HHH 80| Chg =230

9l T2OYS TSN HYSR. 2|87t 02120 7|t 2 g 2= a7t

CtAl 022 K|
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UE T MY =2 S 7350, o2 Aol Af 20|=0| 2|27}
20

EMR.

3 |
2
1 a|

2. LEF F71 782

QoA 3| AF =7|E TP 227 OfEH LEZ R ot E=X|S
HEEELCH 40| 2EF =7|8 Uertd, e Zat D ES HE5H 8=
A2 FHO|LL R Fot Lo| & AALICE ALE ot H, Ehams A H5H7| & L.
CIEA 25 B8, st 282 B0 Z2 -0 M THE X0 o &
2H=5H0] LHEHHCE= ALICL O S52 T[Sh7| oA, mo| Mol 2= 1 &
2|29 s¥2 02 =50 gLt

LiO|MOf A, &2

fdefine i1t.

Eldef turn right():
turn left ()
turn left ()
turn left ()

fuse 1t!

turn right ()

w m =1 @y N s W kP

471X 2ot Ho| FF5HM 2.

. YOIN BYSO|, 40| 47|
O] 4)0fl A AIBHLICH 1 7] 5 &
=2 2f0 oA YL, CHS)
sheX/of Cheh Al 2]
SN2 B0 YYREN TLEES

2RO A2 DAL

= 7t
[ [
E

|t|

YHZO| ZHESt OB 2O

oS =0, ofeiet 20| 227 LER =2|H ¥

=
T
a
Ao A &2 |A7 =
O
=

Fo| LIOjX| 25 2|8 (e
AMo|atn o crz
U YYL0| 22 g
gE2 A gL
o =
=

ZEL|ct ool z2

30
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o EMZ, Hol= OCIE{0| AN Yoz MZ ASHE IO 7Y
ﬁwmqqumwaﬁwmmmm:wlﬁﬂ 10] Foleh Apalgke)
|0 S ZH HHOI I LICE. def 7| 5= M22 BE0 0|5, 2=, 1|1
ZESE FEEU

o MW, Mz=2 F2l H—E—%QI 2 BE==2 Lo =0{47|7t gLt
(CHH

S0j2 7|0 277} QUCHH, THO|WO| ST S SkHLE 22|17} 7|chote HE
SHSHR| Y 4 ULLICE SOIMI|E AT B0 Bl BHS S
HQULICE 01T BE 220 472] ¥l 3HS oMo A &=
AHg 8Lt
. U, YHELS Yoot A2 YOIM SOOI M BELE At Ot

HQULICE (S2I012 M2 BHS Of, S2l0f Afo|of = 248 7|58
AFS#IT BT} gl A FOITH OFLIzks A S ojn|3iLiTh)

SHHAO| LIS B2 HEE HOIFE AN HYLICLO| 22 7|YES 2ot &

Ol6i 5t QU] EQISHs L AlZHYLICH

Sor= = 789|0H1IR
2) MzZ=2 %'ELE—% O| 8350] QO MLt SYSHA 2|7t AAES A M E

HNETZ2O-0| Mg Z2AYE #2207 §40|= & 0[5
b= AS €4 Ut

CHAl 022 K|

step_back() HHE= HOIoIN K.

# step_back() defined up here
move()

step_back()

turn_off()
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step_back() BHE2 2|27t Y2 = ot 7t PRSI CHA| K& SLXIZ[2
SO0ItA| Otz et 20| MZ1 20| &2 &2 SAILICE

SEMZR oo 2dREQ HEES SOV St AS LA OHM 2.

I CHAl o2 2 KH|

turn_around() BZE= KM, B= M22 HE=E0[ 6= 0] 7|CidtE AS
2| 27} +=A5H=R] 2ISHA K.

def step_back():
turn_around()
move()
turn_around()

def turn_right():
turn_around()
turn_left()
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>
[H ol

of StLp7F 227t A&
23 ¢7[5H7] fl6iA

move()

# climb step
turn_left()
move()
turn_left()
turn_left()
turn_left()
move()
move()

# climb step
turn_left()
move()
turn_left()
turn_left()
turn_left()
move()
move()

# climb step
turn_left()
move()
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turn_left()
turn_left()
turn_left()
move()
move()

# climb step
turn_left()
move()
turn_left()
turn_left()
turn_left()
move()
move()

# put down newspaper and turn around

put_beeper()
turn_left()
turn_left()
# step down
move()
move()
turn_left()
move()
turn_left()
turn_left()
turn_left()
# step down
move()
move()
turn_left()
move()
turn_left()
turn_left()
turn_left()
# step down
move()
move()
turn_left()
move()
turn_left()
turn_left()
turn_left()
# step down
move()
move()
turn_left()
move()
turn_left()
turn_left()
turn_left()
# move away and stop
move()
turn_off()

34
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— [

sES AR FHS F2 A= €+ UASHCL Z2 -
M He MO AjzZ =

— = =

7t7t0| @{ K| gL L.

S
2

o AAEHLRHR7|
IHO| 4 EHAl(pythonic form)Q 2 T2 13 7§ Q S X 0 AL},

climb_up_four_stairs()
put_beeper()
turn_around()
climb_down_four_stairs()

ASHE Z2 00| e i M O LITE [0S S0, um_off) Y20
R Q12 LICH] SERI B Mt Bl ko] 917] €M #4320 M2 BEEo|
Ho|EIChe 215 2 AH0| 6 7PI0| CotZkE LT 07 Bas X% Ho
% 20| YLc

def turn_around():
turn_left()
turn_left()

def turn_right():
turn_left()
turn_left()
turn_left()

def climb_up_one_stair():
turn_left()
move()
turn_right()
move()
move()

def climb_up_four_stairs():
climb_up_one_stair()
climb_up_one_stair()
climb_up_one_stair()
climb_up_one_stair()
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o2 2 Xt

2l
10
(ol
o
Ho
mjo
%
N
Ot
2
bt

HME 204

IS &5 A H
S0 EM K. tun_off() Z&SHAM, R 7 ZHEFS BREES F7he €27t As UL
Z2OHS Mo, fef T2 CHE 0|52 At8ots AS YAl OtM 2.

CrA] of 22 At

M B 2= 0| &2 I 74 ObX| 8 Bt H| Wk AZES

JIMEM K. o= 20| 87| 2 27tR?

def a():
turn_left()
turn_left()

def b():
turn_left()

a()

def c():
move()
move()

def d():
c()
b()

def e():
d()
d()
d()
d()

turn_left()

e()
b()
turn_off()

36 © 2014 xwmooc(http://rur-ple.xwmooc.net)



a(), b(), c(, d(), e() B =20 EE M=H2 0|F0| FESILt= AS & & UG HICH

37
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11| 5} 7|

r

7

I.

CrAl

<Jin}

=
=

F

H
—

ight()

climb_up_one_stairs() 2| BEZ0] 4 H LIEFH LICE XA =

20| turn_ri

o

42 ZQ8M 0l2/20| & 7|8 &S CHA
24

—

0, XtilS Bh=okX] OpM K.

LICt XpM S BHESHX] ORA 2.

_left() 8

C2
—Hd

p_one_stair()

=0 turn left

=

§A0M = A3
=

&L
ChAl 25
of

climb u

ok

2|27}

L ct.

I

e
o
=

S207 HHES BHE5 T £ repeat() HHE S OF2HQF 20| A2

oK
Hr

o
o

= O

iy

[aly)

repeat(

o
=

LICE M2

A

=

(o]
PN

-
o
—

repeat(turn_left, 3)

Z=0| [Ty

IL

def turn_right():

o &2 x|

iy

3

ol

4

L|C}.

8

-
=

sHof &

A
o

.|

L

2 X
=

21

1T
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A& Bl A

o

LICt. O] 2XE 27| ?I5i A, 0
=

F0IA Hil2 MZ22 71 E [def, repeat()]
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o=z E71

2|27t HolE d7] 230 H7tetLC) or2f 20T H=E et 25 M0
|27 =4S E 22 ™S 5tM . L T2 hurdlesl.wld &L CF.

i | —le

M22 22 S ZHMS O] At H|ustd EMR. [Z2OHS
NEaL, YU K]

20| AL U RE YR(HHE BH)S 2|27t S LICH YE

I+ -2 harvestl.wld & L|C},
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Ut
g =)
oo T
L] {ID
0|J ot
it Y
H_I. ._._@._n < O
T = o {2
ol ufn I
= = <F
= i o Gl
of 5 < X0
0 T =0 KT
i ) or o
Q Q00O & U ol
o 0 .|A_m ]
Q Q00O O o o2
0 K o
70 @__ W ol
Q Q00O o o o E
T N IH o
O 606000 v 5 b
= T T ok H]
IH — [
a = s < m Mo
Q Q00O 3 Tl 2oEcr L ®
=LA - = - el
e -4 L SR A S o m 4|O
10 mm - L 11X 11X _ K
CRCRCRCRCRC] SN A I B-H
kM 2o Wm S22 N mH
B s 02 I TFJF U
o 25 mE 22323 =] A
IH R K S s 2 a2 od
T o5 o SSESE gy
~ w o = ™ ™~ - T €8 S M08 jo Al

© 2014 xwmooc(http://rur-ple.xwmooc.net)

SES;

0

repeat(harvest_two_rows, 3)

turn off

_off()
ChA|, =2t 2R 0| A

move to first row
40




CHAl =2H A7

CEA|, =20 A2 YLICH obX[ 2 F ool Ho| tjzdoz
2|22 5105 of2 SO EE S(HIHE BEH)S S0t 5 UEM 2.

2 E 0+ harvestd.wld ! L|C}.

1 2 3 4 5 6 T 8 9

UM ONMY, g 22 ™2 Cs SBES 2B oF gLt

10 11 12

move_to_first_row()
harvest_two_rows()

Ol YHE S YA 2 YA o= Holg|x| 2 HAULICH SHXIBH O] BHE
S-S HolstH O ON Z2 131 2L WA O = ofje T2 IS
KLY OF BLIC,

move_to_first_row()
repeat(harvest_two_rows, 3)
turn_off()
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oA, o=

Xt
A

bR, +=2tS O{C|A Al

o
o

PRI 0f 2SS K| Y E B Fof
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=

i
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RO
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o

i
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oF

o
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a

=

H_-_ o

£
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mjn
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od wu
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ol ofo
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™
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HAteme[EaEs AA2 HIMX| Z2F 2 &+ ASHCL M7 2SS E2X

[ |
AULER?

S APMTIR REER, 2RIt AAR FHE 67| YISA 2t
=20| RFLICE 2810 ZHE 37K MEARS Fojof BLILE
012 SO, 21207 BT Yol U2 I, £ AS sHOF TX|of ChefA F 7HK|
MEIX|S & 4 Y& LICH 01 S S0f, 2207} Of N2 HIHE Foetn ¥
)

if next_to_a_beeper():
pick_beeper()

flel ZE 2|0 & &S AICE

o HOIMZ|/Eif = 2|EI0AH =2l 2LO[ E(True)O[Lt

H A (False)Of| 2} WS FSHA ghLch
e next_to_a beeper()2 = 222 A2 2|27} H|IH R0 A}CHH
(2320 22 X(0f SHEFH)EH2 AFMO| £[ 0 X S4CHH

. i%(:)% Z 0] & (True)O[2tH 2|27} [}2t0F 5= - E 20|
AiehL|Ct,
o 70| HQ B LT YHE2 Yo &2 BRA OEIHK| 2
=0 27| S LTt
20| MF &S i TS 2 =+ AKX, if 25 AHE0t= AE At
Of 2 ZPEhetL|Ch ZECHot O 2 ALE & if 28 HTHEM K. 2|27t o ZhS
O|5otHA, 2 S0 A= O H|HEt: F=0ta 7P AR 0 & S0,
AlZ 2IX|= Ch3at 20| 28 A YLICtH
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10

-
o]
ol
o
e
=1}
=
==}
1=}

2O OEE ot E ’E AL L

. OOz Bl 7H MASIA K.
o H|EH7} JAE=X] &QISHN 2.
o H|IMZSILE QJCHH Z10, AHX| YUCHH FASI A L 7=

O|=3dtM&a.
CtE B¥ES o =gl 2tef 2|20 8| H 7t Gled =22t
PP S oL 2| 2= 2 ES D HYLICE o 7|0f O @A A St=X
IETF A H O

def move_and_pick():
move()
if next_to_a_beeper():

pick_beeper()

repeat(move_and_pick, 9)
turn_off()

Al Zf5l AR

EtAl ==} A7)

ChAl =2HA[ 7|7} = OFBtE LI CL SFX| 2, O] 0= 2= S M A0
LOFSHX| REOFA, E2 R 74 7F - ofl B A LICH Z &
(HHZ #90)S 2|27 2517 THEM Q. 2E 02
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harvest3.wld 4 L|CF. K|t StSA[ZHO]| S E OFX| QO A & SR ==t
SEME HdHEMSA. of2{20| sfoF & Y2 OOtk harvest_one_row()

_E =
e oh~2 -8 A 22 move and_pick() B 2 et4=9F H|==E A LT

M 0| AFRSH harvestl.wld 2 E

I Ct.

Ol Z0| &gt 22 =21
Th Lo A et OpEH7EX| 2 2 S 3l Oof

|I°+ r|o

LCHA| 'ﬂ%ﬂlﬁpl—@—ﬂl LS EONL. I YCtH ¥
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ZzI"S Adots AS Bi?c A0 MO[UASK| Z2X[ 2 4
AlZhs 2L §X|= s AYLICH 2Hef B|ZF LY 2ICHH, A5 81, O FX
BCHE ST 2 LIZEM M Q. O A X|0f 2Ot K| = 2 LTt

if 2 A|XShs 2822 MO[JUA =O0t=A|C
If it rains,

.. keep reading,

otherwise,

.. go outside and play!

A

F

]

X 2t AZEEH T2 O8K Y 2 QL|CH DHO|M T2 MK CHA|
AlEE

o
Mo
09

Bkdl
0x
St rlo
i

il

if it_rains():
keep_reading()

else:
go_outside_and_play()

Y= Tof 22 mo[M Ol else 7| 2/ =5 B 5 LI CH 2, ZHef B 7}
=CHH, M-S 0 O-X| pIChHE o222 FAS sioF X € AE L

2. B|E7}«O|H EO{Q...” 2t gL},

StLt =2 1 0|40 HI Fofl 2|27t M J=X[E & = Aes Ao HBiA,
2lEO= o0 8Ol AeXe &+ A0 220 HE|E AR =F
=M HO| JU=XE & = AN K. 22T AH CHZ HAES 8%

front_is_clear() # 2tf FEHQH)Of| 0| GICHH & (True), AEX| A2
left_is_clear()
right_is_clear()

2
N
i
"_ﬁ
=R
wn

NLA

2|27t ES SASHEE] K W BYE S ALSTIAICE B} 0| QICHR A%
Bt 0| % S 2
20| & 4 %

if front_is_clear():
move()
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else:

turn_left()
turn_off()
Ofgfi= & 7IX| CHE &0l ZtEtet =2 WS AHA|Z AL T

4 5
=S SOCLA|

Y

YYSZ Bl U Al 2|27}

Of M| ZHChet =2
il Al LY,

def move_or_turn():
if front_is_clear():
move()
else:
turn_left()

repeat(move_or_turn, 20)
turn_off()
HAHSIH O30 ZUE & ALY

e YEON ZRIUS A

4

1 2 3 4 5

2|17} O 2 0|53} 1 WS HHRE HIHE L2 SECHY, 2= 07t 52
Ste 28 BH S0I187 25 4 ABLIth

FH =N HE et ols

47
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ol tolg 4+ + Y E FEEHITE 2
g =212 200t B0l USRS SofCHID) TS Aust YL
def dance():

repeat(turn_left, 4)
def move_or_turn():
if front_is_clear():
dance()
move()
else:
turn_left()
put_beeper()

repeat(move_or_turn, 18)
turn_off()

][
I
=2

dance()2t move() HEE0| if 20 SH2A7[7H E|0] A0 N, S Lot BHE

Lo EE A= A2 T 2. else 20| A SO{MT| &

turn_left()2t put_beeper() @ E 2= H|SHH QHE[O JSLICH T2 M
=

Zih= of2fl EAIZ[0]

nz rjr
o

N

O| M| put_beeper()2t turn_left()7F ‘B |0 UX[ &0, of2iet 20| CH Ao else =2t

#O0| YESICHH F& 20| 42782

def dance():
repeat(turn_left, 4)
def move_or_turn():
if front_is_clear():
dance()
move()
else:
turn_left()
put_beeper()

repeat(move_or_turn, 18)
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turn_off()

O| ™| move_or_turn() & &= O4'H put_beeper() HHE= A, &
Oto 2 JIEX| AZ O 2 S| HBI iflelse MEHS TBISHL|CH O] T2 1240
A1t ofaf LIErLt A& L

SAIE 0 oz 2|20 [ M, H|H S At2|of| s5LIC 2 2S0[0&
702l BlH 7t QgL E otLtE 2S0[0] =2ot= @4 O|S oA L2 H[EH 2
CHE Stits 28010 =0 20| 21 B2 2 3| TotHA L2 H|H LTt

O|X| put_beeper() BHE2 Ot2f0f| LIEFLE RUZO| def 20t HHSHH O|E A E7tR?

def dance():
repeat(turn_left, 4)
def move_or_turn():
if front_is_clear():
dance()
move()
else:
turn_left()
put_beeper()

repeat(move_or_turn, 18)
turn_off()

O|X| put_beepr()= 32| H& 2
HEE|O S T[T} E[0] YK]

move_or_turn() B8 e+
220l L|C} Al ATt
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RIS7HR| HAICHAIT], 1 B9(S, 25 oHo| YYR SOMT))S SefA 8L
MBI} el B 007 Mo ELCL e SoM, Bl B4 S0{M7|2 ¥ B8
S HIS 20|, YYRS SoIMT| O RN TO|HO A 1S 97| B2
FCES BT 4 UCHs HE SES UYL

2= FolE 97|18 2 gLtk 2|27 CHE 20| BF(E2 222 E,
el go|2)of Foruch 2| 2= 7L Fof S I 250 =A&UC=

A QIX|gtLICE Of2l, &= 7He| B7| BAZF USL|CH 2 E T2 hurdlesl.wid,

hurdles2.wld &} L|C}.

4

~1©

3 4 5 b 8 9 10
20 THRIELHE 21 B3 = QUota 7S ShAIL) oot 22 HEE et
golgtAlLt.
def move_jump_or_finish():
if next_to_beeper(): # 245 &
turn_off()
else:
if front_is_clear(): # 857 ELEA| 2510, &2 FO0f=0[ glCL
move()

50 © 2014 xwmooc(http://rur-ple.xwmooc.net)



else:
jump_one_hurdle()

jump_one_hurdle() 3 & 222, CHE g "o 28l0], 2|27t =Y

o
27t A= StLte HHEE2 tha 25 UL
repeat(move_jump_or_finish, 20)

el oo, RE= HAEE Foteof wat BE o =0 27 U Ch

Lo|E1 AAZ AXSH 2 QICHH . B - if, else, if, else, ... &

© 2014 xwmooc(http://rur-ple.xwmooc.net)

51



if, else, if, else, ...

)
&M HOHE AE T2 M2 iffelse =2 CFHE iffelse & 0| 2 MSI=E
HSLICH ALFSHH 2|27t 3 74K MEH(ELALE 2= SZ[0|ALEL HOES
HE7hH2 siioF 517 2 LICH O &2 EE O ZAEE S0 NOFTk StCh=
AS Yotxte[ S AYULCH 2[27F10 709 &f = HHERE O MBS STt 22
UO| HZX| Yo EMe. Z20W I EQ| =42 WOl & AYL(Ct O &
223 EFA|SF XL OH0| M2 BHE Guido Van Rossum 2 if 20 else 214F X8
HAHSH=E 7|/ E, elif & BHE RS LICEH elif £ 012 20| M 25HE0] else if O
o0 YLCL Ol MER 7|} ER, 203 FE = O} 20t 20| CHA| 2 E &=
A& LLCt.

def move_jump_or_finish():
if next_to_beeper():
turn_off()
elif front_is_clear():
move()
else:
jump_one_hurdle()

Z2OH IACTSLYH 22 SOAT|7L £, 37HK| 7hseh 2l =7t
UL AS O|M EH & = = US LTt else ZH2 A2 ZHO0| L5 AHAQ
BRO T +=HE|O], else 2 A &l CFHE =22 Slg L 371 0|2 HEIX| S
EQOICHEH, CHE elif 25 F7tot7| 2 SFE & LT,

def move_jump_or_finish():
if next_to_beeper():
turn_off()
elif front_is_clear():
move()

elif right_is_clear(): # & 71 21 (False)
pass

else:
jump_one_hurdle()

2|27t HHERe| ¥ S 2t 2 XI0{ A, right_is_clear() B 22 SHAF 7 AI0|0f A,
pass B2 (THO[M O A OtF A= SHA| b= At SY)2 e C

Left_is_clear() 3 EZ 0| CHAI AFESHCHEH, 2|2 0= & R ZH0f
T SStAtOrRE A5 A 0| K| Z6HA 2 A YL Ct 62| 20| F

b
OF

HEM !
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o2 &2 x|

If, elif, else 7| A =& AIESI0] & & BOlilE 8F 22 0K & Hol= Z= 1=t
A
= —

Ct= hurdles3.wlid I} &

<A USEOM.. IHX Ut - B’ - %ol ot Lty &
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= 0| OFEL|7}?

HIHE Z2ASI D JAE W7HK| 2|27 A% 0| Sot2 JSthta 7Pd AL 22
X M Atefl = Or2fj et &5 L tt.

IEI ®

O| At ZE(pseudo code) 2 X &S s ot= Y2 L3 25 A YLICE

If next to beeper,

.. stop;

otherwise,

.. keep moving.

XS7K| S8t AE A8aM, 2[AF ZEE Ot N H HAY = AS LT}

if next_to_beeper():
turn_off()

else:
move()

OtH, 2|20 A gr=sA Tstard FHSHA| EOpM THA| 2219

x|
OOl |Ct EHA| O] 42 SA|SHA|CE CHAIO] O|Z40f A 23}= CH2 At BEES
HZ

S8l ATt

>

If not next to beeper,
...keep moving;
otherwise,

...stop.

BHAO| S YUSICH=
o] 24 “not”7| Y E Q|

AHE" &+ AL

I:II:l
T'__T'

Aol SOIoH HYLICE Y 8L = B 3

keep moving 2f stop 2| =4 2 HFRAX| 2L, 0431—.‘?'_—% IR
<0 if
AL YL Ct mHO|'M 2 Of2j oF 20| H|AE 0 M ﬂ':‘—’g%

if not next_to_beeper():

move()
else
turn_off()
K=K 20| B2 AS ALEBHA], et T2 A O = HHYFA|CH def &4
S QA A Ol2 Or=
=2 =T 2T M2 1O

A2 S AN YYSS Holotn, 287t XY
H

H= 8l OF B L|C}.

—
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o2 &2 x|

2t DO 7| E not & AHESHA ol E7| Z2 ™S CHAl 25t K.

oN
mujo
=]

Ha W B2 = A7

|27 S 0fs AS =FMR. 7712 2 (HIH)0| A= =X
AL, S20| StLtE Gl RO UM oF FLICL %|F &2 otz et Z0tof

gL Ct.

=0| RELICH 2| 29| Ot X| = 7t =5 fIshM H&o| MatS A AS LIt
HH LO|AM MOt F 77t HOLE W1, CHE 0N = YOLHE SFXA| AUASLICH
Tl &2k ot 20X LS LTt (THY: harvestd.wld)
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0170 ZEo| YR Z0| AHEE 5= U= Mol _ASLICE,

# = MO 23 02| E HZEAZ|7]

next_to_a_carrot = next_to_a_beeper
plant_carrot = put_beeper
pick_carrot = pick_beeper

def one_carrot_only():
if not next_to_a_carrot():

plant_carrot()  # M 20| Bl= A= CHA|SHY|
else:
pick_carrot()

if not next_to_a_carrot(): # O| 211(Oops!)
plant_carrot() # THA| SFLFEE [ SHOF B LI CF,

HAHOM ZE MSS Mot S CHAl e A2 T2 420| ObE LCE.

rir

<Lif else, if, else, ... @ while & &
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=
=.
)
Ho

OffH =240| 2r=RE WiNtK| FEES 2=t fe W, oMo FH ZHE
oz T2 WS ZYT 4 U MER 7|/ E(while)E AFEE 5= AUELICH
OIA 22 0K E A =S AFE0HY 0]Z10] O 25 Q1K & ZA|Ct,

While not next to beeper,

... keep moving;
otherwise,
... stop.
O|Z0| UMM EH 22 WZt2 moiotlh=0 s2lotd AYL|CH oo ZEE
AESHM, o7 ({8 A =2 O3S X dot=X| ZTH S AT}
while not next_to_a_beeper():

move()
turn_off()
HtES g e/t TS SlELITH Al 2o 2N Q!
o2& x|
while 2t not 7| E& AF&SHAM ZOIlE 7| Z=a 3= ChA| 2E5HM Q.
U= 20| ol S ALY TR YELICH THE L2 Z2 AU
gueRe ohga 2e HYU
while not next_to_a_beeper():

move_or_jump()
turn_off()
YEdHoR XF5t=X| =i 2 M 2!

57
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d= 0 M SE= A7

ChAl ZO| SOMRAS LI CL 220 Ot K| = 7ts 45 UM SR ME
RGO X oA OFEZ LR 2 &= JHe] M7 Rrotet
HOISHA| §f2 X = QUSLICh WMo g2 ot £

(2 E1tY: harvestd.wld)

Q0

©
©
© ©
©®

2|7 Mo Ze 0
UALEL, S20| Lt Gl 20| U™ OHEIL|CE

1 O -

rir
PNl
mjo
H1
o
-
=
fo

n
)
10

n
i3
o
H
o

— 71
U= X0

7| while 7|/ EE ArESt Z2 0% FEO| ARIJL Mt 2 Q&L T

# M| 0| 22 02| & AZA|7|7
next_to_a carrot = next_to_a_beeper
plant_carrot = put_beeper
pick_carrot = pick_beeper

def one_carrot_only():
while next_to_a_carrot():

pick_carrot() # ZFZ= &0 LICE

plant_carrot() # SELRE CRA| TRES2HL T}
O7| Z20W Aol YR E2 40| AL} A7t HELICH (6 F CHAIOf def 2=
20|, oF 240 2 7 O] 22| M to| Zhotat

ol BHE0| 3E0| ASFLICEL)
o X

B0z 0| Z2 ™2 X 50| FLICH Al=3l EM 2~
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AN 2E NS HAHSHL S CHA e A2 T2 440

< molopgLzp - O 52

| Ot LY.
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=22 Part

1

Oof 7| B2 (Multi-part) =20 M= S7t5l= 2E&E 2 7HE 2X £ sl Zst= 2FE S
ZZ2™MS &g A QLo
1. SER*EEMAHZES
Ztoist m2 Ao 2 EYSHA|Ct 2|27t Y E FQ|E o HRE ==0, 3740
ofl st Zo 2= QICt D 7HHSAILCE. front_is_clear() HIAE S A4S W, MO
SLot Z2 W AYMUSLICEH o 7| SLEO|M | SHLEE 7HX| 2 CtL &=
g =2 OO CHEFXM QI 7H e 7t &L Tt

. UM HEHE Lig{ =& L CL

1. H2 OFE 7HX] Al ™ EghL| o,

. o o=& M IZFo 2 o|MS gLt

V. tei=s2 HIEHE ZAZ W7LX] 1, 111H THAE Bt gL Tt

V. H|I{E 2ASIH 2|2 7 7H & L

2 8tE HHEO| JYSL|CH BHE HHE2 ot et

ACElz R0
MmO AC

put_beeper()

while not next_to_a_beeper():

if front_is_clear():

Qot T2 0| LY =
2 M3t FA|CL,

I, mztELcH 22

move()
else:
turn_left()
turn_off()
Drof Z& QIX|7f Of2 2O T A1 20| =[O UCHH, A|ZHS ZHX| L ¢
Z20| 2|20 P US YHSH=X| A2k SAICt

60
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4

ofefe| 8= o
UL

20| E[X| &=

4n N
tu
i

Ot7hA], CHA| S 23l EM 2.

< while £ - B’ - =2t Part2 &

ZIE X R HCH o 28X 2HE 5 ALtR? Tt
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=o€ Part 2

—

L2 ESLICE 22 0|F5t7| o B|m 7 Fof| AKX 2K & =elst=

S LICE while BH5 B E0 S0{Z 7|27} TS QlgLCh Bh=

= (
YHZS HASH7] T0 move() BH == Ot et 20| =450 =Fet LTt

Part 1 2| OpX|2}of| —?—EI7P7%'”._4'5F—E—XI9I%°|0|017| UAE UL H|HE

HAE

put_beeper()
move()
while not next_to_a_beeper():
if front_is_clear():
move()
else:
turn_left()

turn_off()

FEITA RS EM .

ot Z20dls =g O S LM s SAICE of2] == A CHA
s+ Us FEYLIC

4

Zit= R2|7t Hothes A2 32| OfgLCh 2|27 X EZ2S "ol M, 85 et
=0 = ERpELIC

62 © 2014 xwmooc(http://rur-ple.xwmooc.net)



=M= 227t g2 met A Y I BX = WU 5tALE, 2IZo =
g|Hots DS 7PSMELLL 2[207I LEZ 2 2| Hot= &0l oA =
UHE TS ofX| BE UL 2| 2O0A 2ot A2 RM LEZ| 65| HO|
UK & =Qlot= AYLICEH THef Ho| QIR 2|2 BERC 2 3|HS
SHOFZH SfLICE LERC 2 o|Hts =g HTE 2l == 70| AS LTt

def turn_right():
repeat(turn_left, 3)
put_beeper()
move()
While not next_to_a_beeper():
if right_is_clear():
turn_right()
elif front_is_clear():
move()
else:
turn_left()
turn_off()

UM 2 H AL 2EE WEl7] /IsHM 2| 2 2io 2 M Q. of2{Z2
2 =oIst7| s 2 A=) BA Q.

€ =2} Part 1 - a =gl Part3 &
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=o€ Part 3

UOPYHARIB, T2 IS BES SHA| SALICH 220 Fo| Ho| g
A w a|zz7r @ sl SOlRA SLIck of2jel ol 2B R
52O 3 7+ %O 0SsHoF FuCk

l_l_|

def turn_right():
repeat(turn_left, 3)
put_beeper()
move()
While not next_to_a_beeper():
If right_is_clear():
turn_right()
move()
elif front_is_clear():
move()

O X otef 20iX|= =S SA3HFAICE O 20| H-got Z2 020
S5t

4

=S =, FH2 OotL| 2 YL|C O O|def st S TAlsHy| Hof of AEX|
ZOFZAILY,

€ St Part2- B - =2t2 Part4 &
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=22 Part

o2& &= Ot AXOI
oz

2| 2O0A o= HEISHA
U=AX|E 2lot= tHAZHE

def turn_right():
repeat(turn_left, 3)

put_beeper()

# T2 O 7Y A X

if not front_is_clear():
turn_left()

T2 ™ B X -

move()

while not next_to_a_beeper():
if right_is_clear():

turn_right()

move()
elif front_is_clear():
move()
else:
turn_left()
turn_off()
Xa G HAENE D HY
ST A TR e HYS
€=z
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5. &0 544
Lt EEE A4S AICH
UM Aot TR OO SR AR5 EM L.
OtOt= H215H%0], Ol Z2 /2 HSOHK| BELICL S&H2 R X5A|7]7]
M, = Hoil =71t while BE =2 if SEZ2 2 BtE E7F AEU T
A3 EM Q1 XPot=s AS 2 2lotA a.
6. 2|5 B3| 57|
27 0FE A 22 Ao = d-80AM Asste 208 s 2det =
SYLCL O =22 227 HE e =S ot MR
MY AU Z2 /0| i B F 27 ZESH 22 5 AKX T HELe=
TS 9= MEUA= =5 20[X| B2 + JASLHLL =4S
FIISHEX S 20|17t Y= T E AHESH= A0 T2 WYL W5t= A
S0t Ch CHO{LE 20| 20X = AME 2 & AKX B, TS F718 SAICH
# 983 YYE S42 ol
def turn_right():

repeat(turn_left, 3)
#HIIH S W2 F0tM AR X H S BAIR LT
put_beeper()
# 12|30 LEAM, LIotE ks & 9o 2 X0 ZfLC}

while not front_is_clear():
turn_left()
move()

66

© 2014 xwmooc(http://rur-ple.xwmooc.net)



#HIHE 2] 52 22 S0ty U
# 2EE Y3 Mot HiF = AS & = ASLICL
While not next_to_a_beeper():

if right_is_clear(): # keep to the right
turn_right()

move()
elif front_is_clear(): # L =% &= [2f 2 2 L Ok
move()
else: # 21 % HS Mt F X Y LICH
turn_left()
turn_off()
O Ol 2t HHZO| Cigt ol = & H=S| otX| 2 X E s ZSt=0| AH8El=
& 12| S (Algorithm) 2 2 22Xl EHH S Q okdt= | = JCHA| 20| E|X|
AEL|CH et O| A FM S Che A2 0|2 20| 3 USt=CHE ZE2E0HS
e 2=0A= =220| & X| REXE ZELCL FHE HM™ IHgE
ZRIW0| F o BEOR PAHE S F2uE L

1) HAHXES BAZHCHL

2) Mg AAXE2R S0ts M7HK| L EBZE ¥ S U A% O[S ELIC

#0| T2 2|27} HIA| A Htsfo 2 HE 2} S0}
# XS AR X[H 22 CHA| SO0ttM HF=

def turn_right():
repeat(turn_left, 3)

ZT2OALC

def mark_starting_point_and_move():
put_beeper()
while not front_is_clear():
turn_left()
move()

def follow_right_wall():

if right_is_clear():
turn_right()
move()

elif front_is_clear():
move()

else:
turn_left()

found_starting_point = next_to_a_beeper # H|IH{ 7} Z=7| A|ZFA|E 2 A2 L[CH
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t_and_move()

g_poin

mark_startin

g_point():

While not found_startin
follow_right_wall()
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turn_left

turn left

ight) 3E= &+E

turn left
turn ri

turn_right() 38 &2 7|

def turn_right():

ojnu

0

F83k Zi0f 2t M (About useful)

from useful import turn_right

2MQ.
turn_right()
turn_off

2.
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turn_left()

move()

set_trace_style(1, 'red’)
turn_right()
set_trace_style(2, 'blue’)
move()

set_trace_style(1, 'green’)
climb_up_east()
set_trace_style(2, 'blue’)
move()

set_trace_style(1, 'orange’)
turn_around()
set_trace_style(2, 'sea green’)
climb_up_west()
set_trace_style(1, 'red")
turn_around()
set_trace_style(0, 'blue") # 0 = invisible
repeat(move, 4)
set_trace_style(1, 'green’)
climb_down_east()
set_trace_style(2, 'blue’)
move()

set_trace_style(1, 'black’)
turn_around()
set_trace_style(2, 'red")
climb_down_west()
turn_off()

>>+

d W turn_right() (I M0 HE HAXNE 2E ME22 FESS otLN
FLEY 74 2 = (import) CHAIOf 2 & & Bt =
7| A EYLICHL EH ¥ = Loky| Hof| H

Of

FH

| T 252 OtAlS B0, “useful”0] AH 20| ofL|at
2|20 YA B B EHs Thao| 2EQLCH oq 222 U
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PES 71N B{E(RUR-PLE) T2 MMM ALRE =
USLICH Ol & Ot BHHE ALY 20| D H &L CL.

Mo

MZ2 HHE B4 set_trace style()7F AHE | Q& LICH LB O
T2 Y 2807 OtL|OfM, 2|21 EEOM FH 20| /=
set_leaking_oil_colour_and_quantity()2 Xt H& 6} X| = 23 & LT}
A LE e, 220 trace= TE2IHO| {0
THEZS et LC Letdoz O HHE2 S 2=

A2 HIAS FH5s HU X5 AFE & Ao s 8L

gt
ul
R
°
m

from 2t import = 221 Z Y A R0l&[= MZ = & = /UXO|
IO 7| 9| E /L C}.

“useful” T 7| X| of gl = HEA

- —

S
Ol¢ g2 2 XI5HA| H=0H

Ug Lt &M oM 2=5 7IHE [ B¢t
.I

gig L|ct, Eg 7S||§0|-7-|| AL 37| TIOF AP& HAAL Ol Cioi A

’S’d*f% of EHOH)K = “*5P7<I s AYLCh 222 SIS

LS =

T2YS BAOICH BR %A P HYLICE

“useful” L1 50| F2f=l Adut= B7H= CHE 2|0 E 7t “wurn_right” 0| S5

M BEE S Felot oot JHESEAICE O] fIBHAL 2 7HX]
A
=

import useful 22 AF& S 5= UASLICE O|E IBH A, useful = 2t
=

o
THE A0 =7t Bart AL CH O E S0,

useful.turn_right(), turn_right() = ZtZf Ct2 FHE L LICHL X HMi=
useful 2= LHF0f E2|E AO0|1, F W= CHE 20| A O {20
oot HHE =LY Ef useful.2 2t HE A0l 20N, FXt=
Ol HHEO| Hol&l &l AS H=Z & = A LTt
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Wot= & B Y2 Craar 25 L
# Lh22 20 ALEXH0|A R LIC
from useful import turn_right as vire_a_droite

# Ot2f|ek Z 0| AHE I K.

vire_a_droite()
turn_off()

s THOl= Q| mio|M 7| EQIL|C}, m}O[M o| Lt K HO| M= 7| E7}
2 A YLIC} H = (variable)2 =2/ [If O] AH|O| E ™ E (statement) 7}
o[0|St= HHE A4 AYL|CH

4. ofot= Z= J1FA 783X &

o

=
~

APAISO] TR AUS BT I, “useful B EQ| T KBS MUY, BT
QA A

#EE 77|
import useful as not_so_useful_after all

4 CHUSH 22 Sk AR 3}7|

not_so_useful_after_all.turn_right()
not_so_useful_after_all.turn_around()
turn_off()

HHMOIA, import AHO|EHES| YHYHAMEL| RE2Hs ES HE
B FL

#EE 717

import module_with_very very very_long_name as short_name

# CHYet BEE 2 AESH|

short_name.instructionl()
short_name.instruction2()

5. @ Import &2

Ljo[ M2 BE{ 2|7t et A 2005 gL 5, Do M 2 O 2 5ot

Z2OHHSO0| Aget W2 78¢ct 225 ot UASLILE Ol
DE2HIAVIYRA R 2EH L2 XS5t = BXNSHA HAET

E QgL Ct Do off CHo A ©f BLO| B 2| =1, Xp4al2te] HH SEot
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T2 S 2 SiCHH, o|0| A E 2 50| EXfSH=X], 20| & = Y&
RE2 FAQUXIE HA =olgt Dot o JASL L OFS sh50 HIHX]
8%t EE2 AVHEY AYLIC

MAEHN 52 E: 20 AFE|R}XO0|, import 2AHO|EHE ALES
Hotéth= Ol /= Fa7t QHHSHK| Zot AT EEE 7HA| 11, O| & AHESHA
S| XL Bl = A2 TS| fIg L Ct ool HE & oM Z7tsStth=
A S FRSHUA . S S A X A>AsH7| Fof| TIFo|A M 22

T2 WS S0 E FX|A|7|MA2. 2lQ] import AH|O|EHEE
7IMRE & B ERUR-PLE)UAN 22 =HAL 2 0| &AH & ==
UASLICEH =AM 8 == JASLICH 2Hf HQSIACHH, AL 2
WS XX ZOACHH, M XA HElE FHAIR.

< H|7f9}9_-@- 2|20 A SHM Jt2X|7| @
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3. Of2f EO{X|X0| 127 HIHE %] = H ]
C2|X| %L carries_beepers() BHES A2
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3. SOtMA] H|E StLIE &1 0| S5HA L CH 0|5 2|27t O]y
HIH 7 Qle 2S00 ==2e W7hA] gh=gtL(ct O] X|IFM 2| 2=
HIH 370& 7kX| 2 LO{OF gL LY.

4. 2|27} O =& W77hX], 2| £+= Of B|THE 7HX| A BHELICY,

5. 2|27t 2= H[H©E)E W =1, StLH0|E)E MM, MFR22
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US7|7LBILE S LT
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3+5 & Al=3ll SAICEH &S0t R? 50| & X[ HZ... Of =
S L CHA S0t Z2 RS +Foi A & AHE Hot= et 0+0 o M
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5. =3 Xt2| <Xt K5t
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CtE2 thArE| s S+ Jd ez Ltalst= A /L . while & 22
FEO|AMMEES 2= EOf CioiA M= Z0] M| Kt L|CE O| A2 ASEH =
=2 sELLCL
6. X5 =
10 Zl==0f] 0 CHE TIo| =AtE otttz Q0| E Y UACHH =13 S
HESHAM CHE TRl =ALE Lot Z2 WS g5 EM| Q.
. thger

XS7HK|, 2|21 =0 A, IHO|M 7| | = def, elif, else, if, not, pass, while &
HEBSLCH O SEot 22 WS 25N, 2|27 & =XAHE Hdhe
Ao 2 OrRE| AELCH Ol 2|21 HEE HOLIA Moo 2 B HA F
ZXE Y 5= UsA| 4EEACH 2|20 HEZ SOL7H7| TOf| IHO[ 4 0ff THSH A
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oM 2 0|0] Hot7| & B4 [A0K

OrX|9F st 0 A, 2| 238 K| =510] & AHE O €| EotA ot=X| BiR&

- T
OtH st 0| A=, TtO[MO| O @A <AtE H5tE 1 0|gdS sASt=A] HiE

L Ct.

N EHRY B2 S2/510f, Lo QIE{ = 2| (Python Interpreter, Python: Code and

= = 1
Learn)= =S LIC =tHO| CHZ0| 20|= A1t 25 AYLICE

RUR: lire &t apprendre | Fobet: coder et apprendre | Python: coder et apprendre | Python; simple &diteur

1 Python 2.3.4 (#53, Mavy 25 2004, 21:17:02) [M5C w.1200 32 bit (Intel)}] on win3
2 Type "help", "copyright", "credit=a" or "licensze" for more information.

3 =

4 from _ future  import division

5 »xx

Na2 M 43S FAISHM Q. CH BR S0f TojM ZEZ EQL|Ct.

E1 “g+4>F EtO| St “enter” 7| & +ELICH 2O CHS

af

SEEIOIOMO| e & AE HUSLICH & <AS Hote A2 227

oo T X AN H

Of

A F7|E MELYLC «22 £0|7|(cut and paste)”= AtE5}H0]
QIHIZ2[EHO|N 07| 2 f7 0| Ot N & +2lstA .

>>> 8+4
12

>>> 8-4
4

>>> 8%4
32

>>> 8/4
2.0

t710l= AR o2 ZE LT 622 0AH ZEZE (Prompt, >>>)2 H B2
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Hi=2 M, 8 S 322 L= 4= giCt 1 S LIC 20 Lixd ol LIHX| & Hi* 1,
T ChS0llE Aol CHSh A 2L Ct.

! HJIO

& ool

rlo
2
u
A
S
>t
ajo
|o
HU
=
Ho
ox
=
I
r
0z
mjo
|

I
-
Inl
E
o
g
=2
x

23l E N A 525 3= tHE
Lt S otCt® 7|oieh B (1./2=05)2 €& = UAS LT

d
2E9| future & 7t 7|2 +HS 3._F YL Ef g5 Uxds Aot At
SICHE OfEi M 8 O F LS AFE3HAlR.

>>>8//3

2

>>> 8.0//3.
2.0

THX M ZES 2OHSO0IX| 21, AT EtO[Eot0] Aol EM L.
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Rt Ed s A0S =2 AL 22 Q0|8 HE
%' = o

=
el oix7t & 2 280| 2 AYLICt

>>> 2+43*5
17

>>> 2+ (3*5) # O] 7| M SHOf| CHSH A = mO| M = FA[gL(CE,
17

>>> (2+3)*5
25

>>> 2*%4/8
1.0

>>> 2*4//8

1
>>> 2+41-4
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4, o 34

F|0

re
g
2

THOIM oA 7|2 =3t HAXIELE B2 A2 A8 = JSL|CH o 7|
o 20| A|ZSHIA =& 7hsot B 7HX| oK 7F o QL& LICt
>>> 3*3*3*3

81

>>> 3%*4 # M|

81

>>>7%3 # LFHA[ G4k 7/3 =2 LFHX] 1

1

>>> 7.0% 3

1.0

>>>7.25% 3

1.25

>>>73%3

1.2999999999999998

OpX| 2 2t 220 7|CiSt= 749|131f Z&LC 1.3 1}
1.2999999999999998 2| XtO| = O|O|SIH, HFH AT ALO|AM 7| Q1gtL|C,

AREH Z202Y Hatof LM SFokA =B, == 50| A of A O
ZAp7F LhEt=R 23 A YL T 270, Zekeh Z0kg IO M 0f| A

A Al 3ol AHol= B/ 7t EIX = &L
5. D124

CtEE Al=3 2EM L.

>>>n = 2147483646
>>> n+1
2147483647

>>> n+2
2147483648L

A} 2147483646 1F 2|0 E “n2 A SLICH Z&A =XHE

avance & move £ HAE [Iff 52|00f| CHSHA] =25t A2 7| ASHM A2,
OO 22 HHO Y10 OHE SO0 X LCH ARH MEE0 2
S02|0f CHAIOf Ha=(variable)O| 2t 11 BFL|CE 2, n2 B=0|10 Bt 2

2147483646 ! L|C}.

n+l 2 2|7} 7|Cist 20| X| Bt n+2 = B0 SO|22 2X} L O] 20| /&Lt
O|AZ AfH o=2e2[of A #7|E == 8l= 7 = (Long Integer )= Y2{ %
A2 LIEtHL|CH 32 H E SYM2| A HE 7 AFHO M= 2 St
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XS HiEsts 2|20 MAS 2|2 2RpASLICE ofefet 20| FEot & HS S
2olstn sy S22 0[FoH0 mALE HiEst ) S0t= ZES &Gt
(Th BiEole X2 2 3 X0|H, Y= S+7t HHE == AGLILCH)
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al
x

o= 5 etH g

1. T2 1/
2 Z(RUR-PLE)S 4 72| oz R ME|0f YoM

E:] RUR: a Python Learning Environment

RUR: Read and Learn I Robot: Code and Learn ” Python: Code and Learn |
e

Python: simple editor

3

RUR: Read and Learn(5E2| ¥)

Robot: Code and Learn(2£& 0|8t T2z
Python: Code and Learn(ItO|M #!)

Python: Simple editor(ItO| Of C| Ef)

EWD

u]]
o

1%
o>

-
ot

7HA] oA 2 HAY B2l Robot & O &

2. 2" 38
1) 2tH Y
@ Menu : A EI}
@ Code : 2|27}
@ World : 2|27
@ Output: GH|O|H

—_

=

fot

r
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0 0 @

sH® ¥ | @

ET] ruR:a P 2amni

g Environment
I RUR: Read and Learn | Robot: Code and Learn | p

ey % b DI

turn_off() \

N

& World

l‘m @

L

Street \
- r\r IS w Ll ~ e w 2

2 3 4 5 6 T 8 9 10

Avenue

2) Ol +4d

CIE F0r4H, 2222,
EIREEHE

3 Ay, BHE A,
LAET BT g8

S e prilE O | | sR®||:F @

2Ccmy
S0, H&, 27|35

SICHEE(H, 3I(,d/H]
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1. =8 =%
7|2 Eo| 47| & O|83%t0] 2|25 O|sAIZE =+ JUSLICH
et |l= «, 12 A8 s
T 2|20 HiEtE = yete 2 ot 7H 0|
« MA2[oAM 2R 2 90 = 2T
[Tt 3H210)
1) BE RES SN WY 1S 4 ¥ YL
EM!W‘W‘WMWW o0 e
-y -—;TWU Db‘ﬁw;éi -JMN sfhim % [ % o
. s N g
: 8
T 7
: 6
i 5
2 4
' !|' H 3 4 5 O 7 L] 9 0 3
\ . J
: 2
1 (%)
o progeam ioaded Program not g Botiot s O beeper Defauit worid 1 2 3 4\?_/ [ 7 8 9 10
2) AIIE golstn YExI|SHE(TDE SASIY 2|20t £7| X2 =
OfZf LTt
[AAR 87| 1]

2|E2E LS 20| 0|F Al7|A|2.
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[AAR B} 2]
2|21 E O|SSICtrE Hof| 25 AL

SOl £XKIH of2fet 22 of|2{ 0| LIEFHCE o 27t Zd5tH 22 0=
Ol S2O[X| 47| WZ20f o217t ZYSIA| 5 F=oloOFg LY.

2. move()
move()= 7|HEQ| Hat7| 1 o &2 AL S Stz HHRZ 2[EE HX

=
F'é(;l:OE o|- ?_I- %!'OE OlEAl I|__||:|..

(2t 3t 1]

1) RE 222 S2sin ofefet 20| YeLct

0 0 e

RUR: Read and Lear_| Robot: Code and Leam [ python: Code and Leam | ]

Sy A% primE o she :F @
N\

move ()

A mowve ()

move ()
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a%%ﬂm%%qumnﬁM%wwuazlfiznmmwE%lvl
B2 Z0{0f FHLIC}) AT [Turn off] HHES S2/8tE 2217} 4 7 MEISH
ZIE BOIS 4 YHLIC 7|EC 2 X0 Zat CH2A| XHA0| O[S s A= T}
EAIELCH
[AAZ 87| 3]
OlEQt Ze BITt LIQE 2 ACE RN,

3

2

3. turn_off()
turn_off)= 2|29 MAS N= FHYL|CH [M2tM turn_off()7 A e =™
2|20 = o Ol S2|0|X| $¥&L|CH

(2t 3t 1]

ool S Q2etn UHsto] AN ol

= L

gL,
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.Suct_ess! e

1 obey your command:
turning myself off.

move () I'STJ_ : : 4

1

2 move() I'I/ ;I_' ’

2 movel() |§\_—" ‘E 2

4 move () L - 1 E;r

& turn off() [ ok | ———
[AAZ ST 4]

Ofef ZEQO| ALtE O &dl & =, RS0 2S5t Of &f ot Zutef H| WAL,
4. turn_left()

turn_left)E 7|8 20| We7|(T) of 22 AHg st YYOR 2|HIAE HX|
QXM 2202 90 = S| AlZL|Ct.

[h2F 3t 1]

(s}

1

Z move ()

8 turn left()
4 movel() 2
5 move () 1
6 turn off ()

[AAZ 87| 5]

ofgfet €2 207t LIRES AES AE0HA L.
4

X 2|29 Feof FOISHA| L.
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[&A2 S 6]
ofeff Eo| ZtE Of o

turn left ()
turn left ()
mowve ()
mowve ()

=
1
2| move ()
3
4
=1
13
¥ turn off()

5. F4&
FME2 F2 A0 g HYo|Lp YAIHOR g AES MWD 4K
B= I ARSI # 7|2 0|20 LH2+& 2Xhs dHSHA] &L

[h2t Sk
1) ofgff RS YD JABH0] ZutE =L,

My -first program

Execution error (2]

al

2 move ()

i IEE;:_ { ieft { } o Error found near line 1.
5 move ()

& move ()

7 turn off ()

it
=

RO S0l of {7t LetL|Ct My first program O|2f
O|8iskX| THLICH My first program 2 2|27 Aaligt
ZZ 0 oot 2FO|7| 20| =42 S{of L Ct.

%‘%ﬂ% gl=2dE
30| Of

02 rr
l'IJ

fMy - first program

move ()
move ()
fturn left ()

mave{T
mowve ()
turn off (]}

U‘I

[
=1 @ N odx W R

4 AW Z2f turn_left() BO| FHXN2| Z|A7| W0 &Y= K| RRACE

=, Y=ot0] =I5t of oot 2ot H| oA 2.
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[AAR 7] 7]
Ofzfelt &2 ZAut7t LtR7| Q3 2 =& FAM2| SHA| 2.

move () 4
move ()
turn left () 3
move ()

turn left () ? %F
move () 1

t'l.'I.II'.L_IDIEIE{} 1 2 3 4

B N 7L R S TR R

IEES MAEDH| flol MEE L

(T2t 3t7])

1) A ORo ZRME XN E(TnS SYFC
[ o 0
— =

o
2) Mg EHE UHstn /5t

T+ O] = (N):| test.rur

MY ZL(T): |Program files (*.rur)

3) 2{Z(RUR-PLE) T2 S X|ASS S, ACH O HO| T2 ME XAHE(“Y)
HES 223t
4) OYS MESH ZME 0|S3l0] ACHIAUS MEHSD A7|HES S2/5tL|C}
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2E 30|y

1. 91 E 37| HR 7|
2 Z(RUR-PLE)Q| 7|2 ¥E A7|= 10x10 O|X|BH HEQ| A7|E
5x5 | MEE Z|C{ 30x30 7HX| BHAT = QJA&L|CH

B
>

(2t 7]
1) At ool b HEg SBL

2) World Size &0| =3 #0|X|2 XH}0) Y= 375 HATLICE
3) A RO FEXT|SHE(Tm)S St Yso| x| MejE

=0t L Ch

0 O 6

Select the desired world dimensions (streets and avenues).
The existing walls and beepers wil be removed.

10 30

B World size!

= TH
_— 37|

[AAE B} 8]
2Eo| A7|E 8x7 E HASIA 2.
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(RUR-PLE) EE LHO| &2 BH=0] 2|E09] 0|50 M2 = =+

=
AL

2

(T2t 5k21]

ot ApebZ LY.

o

AlOl

=

(=]

=2l

=Hol de=0

CE s

t

EH 0O
1 =

g

H

tHOl HO| Ar2PR| 2 £

o1

2 57| 9]

AN

[

Otef 2F

13

12

1

10
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3.
H|H (beeper)= 2{=(RUR-PLE) 20 HiX[& ==

H[H F7]

ol 27|
M =Y o
MQLICEH HIH = 2|27t =2 5 ASULCH (F2 T HE = AsLH )

(T2t 5k21]

1) EEOM ORA QER HES S0 Or2(Zhet 20| =At7t A3l
O 77+ L LI Tt Of2f | I

2)

J

)2F 20

40

14

ChAl Bl 2[0|AM Ot2A RBF HES S50t 2F0t2| 2 20| 0=
=2 EotH HH 7} ARt L C
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[AAR 87| 10]
Ofgfiet 20| L0 HIHE 4-dotA 2.

IR} LIEHL= A=
HIIH2] O 2I0I3HCL,

4. 2| 2I0f|A H|& 7|

2|20 = HEHE BE3E & A= 7H40| ASHCL (ZOIT EELICH) ZHyof
2astn A= H|HO| T4 ot otthe| e HoM =lE + ALt

Avenue

( Robot has 0 beeper)

HEHF7|HE()S 2230 2/=00|A HHE & 4 Y LIC
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(et 817
1) A ool BlHFE7IME(L)S S2stol 2|2 10)A HHE FL|c}

# ' Beepers! 0o 0 8

Select the desired value, or sumn of values as
the number of beepers to put in the robot's beeper bag.

0 0 20

@ HE 2 HEHE & O ME

0

@ = T2 HIHE & [ AS

2) SJEf YoM 227 Hsta Q= H|IHo| =& =olgtL ot
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5. 2|23 AH|/ZFE7}

2| 2 AN /3= 7HH E( 2 ) HES S=otH A =0 2| =271 A H|/Z7F
& LT

6. YE(UE) X

HEE MALESH| 2l AMEgLCt.

kom0

1) Ofzfet Ze YEZ GHSm, ATt OjRo ZRME MAHE()S

SELIC

MeSin gote TIUBE Y T ARRE wid 2

2) M8 EH
A

The! 0] = (N): | face(5:5).wid |

Ope AT (World files (*.wld)

3)

4) sig 2H=Z 0|F5t0] FEntUS MEstn HI|HES SELCL
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[t sz | \ [ ]
Sy HEYy DREE O si® % ) @

SRS
%7 Dropbox
[EEEES
[=TEEE]
[EEEEE

[ ENERE]

(3 inzition

SEE]

®UEY3

@ cata e = 2012.05.16 25 3104

i Naver.sikuli =g E] 2012-02-23 27 9:4;

b osx oM 20120517 27 10.,

= e =6 20120517 2. 10.
HD face(sxs)wid_| 1K8 WID I} 2012-05-18 27 10.

T python bannerra KB wip Iy 20120517 2. 10.

Y O|Z(N): | face(5x5) wid

| [World files (- wldh

Lo ]

7

4 o @

A=

2

¥
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7. EE Ot H7|

HEOY HI|HE Sic mao| MEE SHEfS g
AS L L.
(2t 521
1) & Mol EE he =zt
Ozt &2 slo|st & oA L|C}
avenues = 5
stregts = 5
5 robot = (1, 1, 'E’, 0}
wialls = [
(4I' 5]I’
4 (5 6),
2 (6, 5,
beepers = {
(4, 4):1
2 (2,401
¥
1

Avenue

3) ChAl 2ETHY 7 E(

avenues = 5

streets = 5
robot = (1, 1, 'E, 0)
walls = [

beepers = {
(4,4): 1,
(2,431
iy

Foo =37
FLo 4= 3

Y FEAEE.0/AE

HIE FE(UES AT

A ME Tt AFEFEIL|CE

ERFExHE yHE LE HEF +)
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